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PART - 1

(1) GENERAL STUDIES
(2) GENERAL KNOWLEDGE OF STATE

1.

State Administration is found in which
pattern of Government ?
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(1) |THTT AeTa=
(2) T<T T AHTT TH

TS ILTEH, I o ford agfa | amm
ST ?

i. Unitary Parliamentary System i. UehTcHeh TEE dgfd
ii. Unitary Presidential System ii. UehTcH STeeqTehsh dgid
iii. Federal Parliamentary System iii. eI TEE ggd
iv. Federal Presidential System iv. TETcHS ALAeITHS TG
(A) i i (B) iii v (A) i i (B) iii iv
(C) i iii (D) ii iv (C) i iii (D) ii iv
2. If the population of Gram Panchayat Ife I\ U=ad &9 hl SHEEAT U &9R 9
area is more than one thousand, what STk 81, ) 39 ITH =T § aTel shl S
shall be the number of wards in that [ERmp
Gram Panchayat ?
(A) 10 (B) 20 (A) 10 (B) 20
(C) 30 (D) 40 (C) 30 (D) 40
3. Who can be recalled from Gram T eI O forl Termaifia fora ST Hehan © 7
Panchayat ?
(A) Sarpanch and Deputy Sarpanch (A) T 3R 39 T
(B) Sarpanch and Panch (B) TU= IR U=
(C) Deputy Sarpanch and Panch (C) 34 U= 3R U=
(D) All Officials of Gram Panchayat (D) TTH U=ITId o THET USRI
4. Which is the latest Industrial Policy of BTG <l AHaH TrEnfes Hifd wH-H R ?
Chhattisgarh ?
(A) Year 2012 -2019 (A) a9 2012 -2019
(B) Year 2014 — 2019 (B) ad 2014 — 2019
(C) Year 2015 — 2020 (C) =¥ 2015 — 2020
(D) Year2015-2022 (D) a9 2015 — 2022
TF o foTu T
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5.

Which is not major mineral in
Chhattisgarh State ?

(A) Coal (B) Iron-Ore
(C) Granite (D) Limestone

What is Pragyan in Chandrayaan 2 ?
(A) Launcher (B) Orbiter
(C) Lander (D) Rover

In which of the following field
Firdausi Qadri has been given
Ramon Magsaysay Awards, 2021 ?

(A) Microfinancing of institutions

(B) Discovering vaccines

(C) Helping displaced refugees in
South East Asia

(D) None of the above

In which of the following State, first
Interactive Bird Park of country is
established ?

(A) Madhya Pradesh

(B) Rajasthan
(C) Maharashtra
(D) Odisha

Which of the following State affected
by cyclone Fani came in 2019 ?

(A) West Bengal, Odisha
(B) Tamil Nadu, Andhra Pradesh

)
(C) Odisha, Andhra Pradesh
(D) West Bengal, Andhra Pradesh
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TG TsT § S -H1 WS Tq@ @ist
TR ?

(A) H (B) e 7=

(C) ImE (D) =dT-TceR
TEIF 2 ITH R = 7

(A) TR (B) afsiex

(C) vt (D) U=
frefafaa § o forg g3 1 TRl swed i

T T8 37dTE, 2021 fye ?

(A) TEATAT 1 YeATaiA

(B) ki it @i

(C) =feror ud ufsren @ foreenfua sronfefat
EIRSEHR

(D) 3% T & ig =l

2 1 IgT e oIS uteh A A © form
= | Tea fomam mm ?

(A) A Y&

(B) TSRH

(C) #Hemrsg
(D) effsam

2019 H 31 T B & TuTferd S e
T A g RE-T R ?

(A) ufvem are, sfifgem

(B) AMEHTg, 3Ty Jawl

(C) anfesm, o1y Tew

(D) fTem sTTed, AT Jeu

TF whE o foTu T
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10. Where the Fourth Session of United 10. EIF TS IATE0T G911 =T T Hal
Nations Environment Assembly was RIS g ?
organized ?
(A) Germany (B) Brazil (A) St (B) sioa
(C) Kenya (D) Denmark (C) = (D) STHTh
11.  The name of the Martyr song sung by 11. SR SIHSTITORT | T ST STt i g o1
the tribes of Baster is Iue
(A) Dandar Pata (A) SvSR UM
(B) Hulki Pata (B) eTehl UTel
(C) Raja-Rani Pata (C) TSI-THt Uren
(D) Ghotul Pata (D) Hied uTer
12.  Till how many days the ‘Danteshwari 12. %@ ¥ ‘TAvad BAH Heg’ 3c8d fohad fadt
fagun Madai’ in Bastar is celebrated ? ok Jerdi g ?
(A) 9 (B) 4 (A) 9 (B) 4
(C) 5 (D) 10 C) 5 (D) 10
13.  What is the rank of Chhattisgarh in 13. a9 2011 I STVMT o STTHR S 16716 T
population in the country as per H SHEEAT G AN H RN HA B 7
2011 census ?
(A) 21st (B) 18t (A) 213t (B) 18af
(C) 17t (D) 16t (C) 174t (D) 16af
14.  Which sector has maximum contribution 14. a92011-12 % feR hmdi was 2018-19
iFr: C:he;t.tistaarh Stzfggr?gs ![Dometstici H BTG TS % Tohel TR I8 | ford
roduct in the year -19 at constan )
price of 2011-12 2 P 1 R e A @
(A) Agriculture and Allied Sector (A) FfN T Treg &
(B) Industry Sector (B) 3T &
(C) Service Sector (C) War &
(D) Manufacturing Sector (D) fafamior &=
TF o foTu T
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15.  Which agricultural produce market of 15. fam 08-04-2017 ¥ Tfag o R N
Chhattisgarh is linked up with National mq@aﬁmiﬁﬁwaww% ?
Agricultural Market from 08-04-2017 ?

(A) Rajnandgaon (A) TSHTETE
(B) Mungeli (B) Hedt
(C) Dhamatari (C) wyadl
(D) Raipur (D) TagR

16. What do you mean by “Slow-down 16.  IAUH H 9 | “iel sht 3T et s1efeoraean”

Economy” in India at present ? (Slow-down Economy) & 3T 1 274
A E 7

(A) Recession (B) Depression (A) gt (B) wet

(C) Revival (D) Boom (C) ™ (D) wsft

17. Which is the formula of Per Capita 17. wfoafda A g ?

Income ?
A) Gross National Income A) Hohed TSI 3
Total Population FHA TAEET
(B Net National Income (B) forgrg Tsd 3
Population SIS
Gross Domestic Product gehel BT 3UTG
(©) Po - (®) -
pulation TG
Net Domestic Product forgpg ] 379G
(D) (D) -
Population SHHEAT

18. What will be average annually growth 18. oY 2024 — 25 d% 9Rd T 5 ffera srer
rate to be achieved for 5 Trillion Dollar stefeaeen & foru s anfSen g&; R
Economy in India till 2024 — 25 ? Teq S B ?

(A) 7% (B) 8% (A) 7 gfaea (B) 8 ufasma
(C) 9% (D) 10% (C) 9 yfera (D) 10 gl
TF whE o foTu T
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19. Microwave oven consumes less power 19. WsHIAd Al T vifed (Ixelt) sl &7 @Ud
due to HEERIED
(A) Smallest frequency of radiation (A) fafertor it ermgft =gaw &t @
(B) Shorter wavelength of radiation (B) farfertor st qimmeesl =t 2t &
(C) Large wavelength and large (C) Tarfertor =i 1gd SAfere: aua= Ud oigd
frequency of radiation CIBED mﬁ Tdl 2
(D) Small wavelength and small (D) faferor it fae qored wa e smgfa
frequency of radiation HGIE
20. BDM testing is done to diagnose 20. BDM udieqor f T o var T o Ty
fopa STaT ®
(A) Dengue (A) 27
(B) Malaria (B) wefwn
(C) Osteoporosis (C) efeauitas
(D) AIDS (D) twewm
21.  Which has more electricity production 21, Setae H forueht foregd Scare ot sht arwar
capacity in Chhattisgarh ? AR B 7
(A) Hydro power (A) it foega
(B) Thermal power (B) dm ferga
(C) Solar power (C) o ot
(D) Wind power (D) Yaa =i
22. Radheshyam Barle is associated 22. TYWM STt ffailgd o @ fora e &
with which of the following field ? ST 7
(A) Literature and education (A) fEea S fere
(B) Social work (B) g
(C) Art, music, dance (C) e, Tifid, T
(D) Sports (D) @«
TF o foTu T
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23. How many members of this state are 23. IWUSI Y USIEH § fohdd ge= 2 7
in Rajya Sabha ?
(A) 11 (B) 05 (A) 11 (B) 05
(C) 06 (D) 07 (C) 06 (D) 07
24. Which of the following from this State 24. 39U Y Mefied # 9 & §&3 9 9
is not associated mainly with film ? PR AT SE1g 7
(A) Anuj Sharma (A) g Il
(B) Kishor Sahu (B) fereTR @mg.
(C) Habib Tanvir (C) =&lla aeiX
(D) Anurag Basu (D) gy
25. ‘Swachh Survekshan Awards —2021° | 25. ‘T Ha&Ul TS — 2021 1 Tesdd
of the cleanest State has been given o= f=fafaa 1 o forg =g =01 =iy fopan
to which of the following State ? TR ?
(A) Madhya Pradesh (A) AT
(B) Chhattisgarh (B) =@
(C) Maharashtra (C) wER™
(D) Karnataka (D) wAleH
26. Which of the following statement is true 26. TG H A9 Heift hiH-T1 a2 el ® 7
regarding rainfall in Chhattisgarh ?
(A) Rainfall in Jashpur Samari Pat (A) SIS HTH UTE ST H HIFE hi 3l
region is from Arabian Sea branch HIR STl e § 991 2rdl 2
of Monsoon.
(B) Eastern part of Maikal range is (B) Hehat #ivft o1 gl Wt gfee B Aten
rain shadow area. AT
(C) Rainy season lasts from mid June (C) Iyl kg HeA S § Hey Toder ah
to mid September. &R |
(D) All of these (D) 3w @ft
TF whE o foTu T
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27. Whatis the name of the writer of the book 27. ‘TUTH 3T BTG SR’ ATH T&ih
‘A Grammer of Chhattisgari Dilect’ ? ¥ oEH FT A TS 7
(A) Grigsan (A) firem
(B) Verrier Elwin (B) afer ufeaw
(C) Kunj Bihari Choubey (C) e sfierdt =i e
(D) Hiralal Kavyopadhyay (D) IS SHIE
28. What is the meaning of the riddle 28. “®d %ol AT < T B ATSRT
“Phool Phoole Ringi Chingi Phar Phare IR Tt 7 37 TAATSY |
Lamdora” ?
(A) Kakdi (Cucumber) (A) TR
(B) Munga (B) gTm
(C) Kela (Banana) (C) kel
(D) Barbatti (Drumstick) (D) &gt
29. What is the meaning of the idiom 29. fmfciad gea w1 319 Sacrsd
‘Nakleswana’ ? TrFSEETT |
(A) Piercing nose (A) T fegamn
(B) Bad smell (B) @& Ty
(C) Getting insulted (C) 3T9HH BT
(D) Putting nose ring (D) 1T Tg=H
TF o foTu T
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30. Which of the following tribes of this 30. 39 TSY I ffaiad ssnfaat foes fiseh
State fall under special backward tribe ST Soft 1 =17
category ?
1. Abujh Madia 1. 3T Al
2. Agariya 2. et
3. Birhor 3. TR
4. Nageshiya 4, MR
(A1 2 3 4 (A1 2 3 4
| 123 B) 1 2 3
) 1 3 ) 1 3
(D) None of above (D) 3w T H IS AL
31. Match List — | (Town) with List — Il 31. T — | (FR) =1 g - I (7€) | faam
(River) and select the correct answer T 3R gl o = fou T Fe @ 9
using the codes given below the lists. W@ﬁ? |
List -1 List - II gt - | =t - I
(Town) (River) (TR) (F)
a. Bareilly |. Gomti a. sl | Tt
b. Jounpur IIl. Cauvery b. SR II. e
c. Shrirangapattanam Ill. Brahmaputra c. oz . s&rgt
d. Dibrugarh IV. Ram Ganga d. fegme IV. T T
Codes : I :
a b c¢c d a b c¢c d
(A IV 1o I Ay IV i I
B) " v o I B) m v 1 I
) |1 v il ) | v il
D)y v 11w o)y v 11w
TF whE o foTu T
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32. What is correct ? 32. TWEHNE?
If a bill passed by State Legislature and Ife ueh fages Tsa faummvea gro o
sent to the Governor for assent, what Bl TSIITA o U1 eﬂanﬁréa%qﬁww
Governor will do ? 2, 1 TSIt AT HUT 7
i. He can sign on the bill. i, I8 [a9Ysh T eEare R Tehdl © |
ii. If he doesn’t sign on the bill, i. Ifc o8 faggs W gL T=& &,
he can return the bill to the A e Fo gl ated 9T T
State Le_gislature with some faaved % U AU 39 g1 |
suggestions.
iii. If the State Legislature again iii. afe T faurmuea fages =t
pass the bill, the Governor have T U7 3L <l 7, T TSTATe ol
to sign on the bill. TorerTen I SEATER T 9= |
iv. If Governor doesn’'t agree with iv. Ife st faereh o ST & ggqd
the provisions of the bill, he can T8 7, a1 92 faeaes 1 seufa & am
refer the bill to the President. Hefifg s gahaT ® |
(A) (i) (A) (i)
(B) (i), (ii) (B) (i), (i)
(C) (i), (i), (iii) (C) (i), (ii), (iii)
(D) (i), (i), iii), (iv) (D) (i), (i), (iii), (iv)
33. Which of these is the power of 33. TH O Ueeufd it vifdd si-H 7 7
President ?
i. To Summon the session of i, THE A IR HLAT |
Parliament.
i. To prorogate the session of ii. TG T AT FHEAT |
Parliament.
iii. To dissolve the House of the ii. Ao | T Torered LT |
People.
iv. To adjourn the meeting of iv. Tk G shT G AT |
House of the People.
(A) (i) (A) (i)
(B) (i), (i) (B) (i), (i)
(C) (i), (i), (iii) (C) (i), (ii), (iii)
(D) (i), (ii), (iii), (iv) (D) (i), (ii), (iii), (iv)
TF o foTu T

Space for Rough Work

-11-

Set-A



i

34. What are the conditions of President’s
office ?

Vi.
(A)
B)

)
)

—

C
(D

—

He should be citizen of India.

He has completed the age of
35 years.

He shall not be the member of
Legislature.

He shall not hold any other
office of profit.

He should be qualified to become
a member of Lok Sabha.

He shall be entitled of privileges.
(i), (ii), (v)

(ii), (iv), (vi)

(iii), (v), (vi)

(iii), (iv), (vi)

32201/CAD - HBE/RCE - M
34. TeeUfa o Ug il Id T 7

i. U W 1 AFTRER BT =12 |
ii. 3§ 35 9 hl 1Y T R o =T

iii. I faumHTed % gew 7 B |
iv. a8 foret 317 19 % 98 T T @ |

v. 3G ek 91 <l GedT hl At i
=iy |
vi. 92 fagrrferenrl o1 gehe B |

(A) (D), (i), (v)
(B) (i), (iv), (vi)
(C) (iii), (v), (vi)
(D) (iii), (iv), (vi)

35. Who will be given assistance under 35. “wymEa fha™ T M (PM-Kisan)
“Prime Minister Kisan Samman Nidhi” % 3T=d7id Tepgen! T=dT & S ?
(PM-Kisan) ?

a. Small farmers a. Y ¥

b. Marginal farmers b. TG FH

c. Large farmers c. IS FTH

d. All the farmers d. G+l ek

(A) (a) and (b) (A) (a) #IT (b) i
(B) only (b) (B) e (b) &
(C) (a), (b) and (c) (C) (a), (b) 3 (c) =1
(D) (9) (D) (d) =

TF whE o foTu T
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36. Which of the following ruler's rock 36. T=fvfad d @ fore s/as &1 s
inscription was found in Shivarinarayan ? Rt 8y g3 R 7
(A) Pratap Mall (A) 9dm™ Yoot
(B) Ratandeo I (B) T@wed Il
(C) Kalyan Say (C) =heamr E
(D) Prithvideo | (D) yefed yuH
37. Which of the following statements is not 37. 38 TSI H Y1 A 1 H HHfaIRaa s
true during Suba period in this State ? IR |
1. In this period Ratanpur was 1. 39 % | TS @AgR of |
the capital.
2. In this period Kamavisdar was 2. U A § FHTGESR U oT |
a post. .
3. In this period British traveller 3. 39 I H foifemt Al wiem 58 U=
Cunningham came in this State. T 7T 9T |
4. For this period Chhattisgarh was 4. s@rwﬁaﬁwmwaﬁrwm |
under the control of Nagpur.
Correct option is ol foerea 2
(A) 1and 3 (A) 133
(B) 2and3 (B) 2R3
(C) 3only (C) %aa 3
(D) 3and4 (D) 334
38. In this State where did ‘Jhanda 38. THUSAH 1923 1 ‘T AR el § A
Satyagrah’ of 1923 started ? gar o ?
(A) Bilaspur (A) foretreg
(B) Raipur (B) TIgT
(C) Dhamtari (C) wwall
(D) Durg (D) i
TF o foTu T
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39. Consider the following statement for 39. ‘Oeer” & foru famfafgd qei w fomm
the “Malhar”. D |
I. Huge amount of ancient things are |. =T ticoreh SR oA TRt e & |
present here. ) )
ll. This place is surrounded by Arpa, . I8 T T, AR ud fRraer Afe
Lilagar and Shivanath rivers. e |
Which of the statements given above e m qei § w-T /A a A © 7
is/are correct ?
(A) |only (A) Fad |
(B) Il only (B) ad |
(C) Bothland Il (C) Iud |l i gt
(D) Neither | nor Il (D) T4 |l 31 e
40. According to census 2011, the total 40. SHOAT 99 2011 o ITJER SAEIE TST
population of Chhattisgarh State is Eﬁwmﬁw%
(A) 25542196 (B) 25540196 (A) 25542196 (B) 25540196
(C) 25440196 (D) 25544196 (C) 25440196 (D) 25544196
41. Vitamin(s) responsible for the 41, Toefim S wa & whad & o Saterh
coagulation of blood is/are 2/
(A) Vitamin A and D (A) foefim Awa D
(B) Vitamin K and C (B) fofimKwa C
(C) Vitamin K only (C) haat foerfim K
(D) Vitamin C only (D) e faerfim C
42. Which of the following doctrine did 42. frafafed & @ wH-u1 fagea 9w *
not exist in Ashoka’s philosophy of ‘g X | HISE e ot 7
‘Dhamma’ ?
(A) Non-violence (A) Afemn
(B) Religious toleration (B) wrfie Ao
(C) Fear of sin (C) U=t vI
(D) Equal treatment to all (D) @efi =1 T FaER
T ®rE o fore T
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43. Who of the following scholar of Mughal 43. T HA % fr=rferiad & o forg fagm A
period translated the Ramayana in S ] B b W%m o 7
Persian language ? ‘
(A) Abul Fazl NEESEE
(B) Badayuni (B) At
(C) Abdur Rahim (C) 33l
(D) Faizi (D) st

44. Who of the following was the founder 44. 3T GHTS o GEATIS FfAiad § &
of the Arya Samaj ? Y7
(A) Raja Rammohan Roy (A) TS T9HTEH T
(B) Swami Vivekanand (B) @l faashg
(C) Dayanand Saraswati (C) e TeEad!

(D) Swami Shraddhanand (D) @ grgHe

45. Which of the following is correct 45. IRl AT, 2021 % Fag H e fIiad
about Tokyo Olympics, 2021 ? TYHT-TT TR ?

(A) India got one gold, two silver and (A) WRA 3 Teh 0l <1 To7d 3R 1
three bronze medals ek Siid

(B) India got one gold, two silver and (B) ¥Rd 3 Ush &9f, 1 T90d 3R TR i
four bronze medals e St

(C) India got one gold, three silver and (C) WRa A Ush &, ff To7dl TR ofi =it
three bronze medals ek S

(D) None of the above (D) 3% W T g el

46. At which of the following place the 46. X A B FRefaiad o @ forg o | firen
famous centre of learning existed 1 GG, e, T o 7
during the Mauryan period ?

(A) Taxila (B) Nalanda (A) aEfTen (B) et
(C) Vallabhi (D) Vikramshila (C) Tt (D) fergpmrefre
TF o foTu T
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47. Inwhich of the following year the Second 47. T=fafaa ° o form a9 o gy =1 fedia
Battle of Panipat was fought ? 3 TS T 7
(A) 1526 A.D. (A) 15267%.

(B) 1556 A.D. (B) 15563%.
(C) 1605 A.D. (C) 1605%.
(D) 1761 A.D. (D) 17615%.

48. After the failure of which of the following 48. T=fafgd | § forershl Sawherdl o 99Tq
the Quit India Movement was launched TR MEft 7 R DSl ST IR form ?
by Mahatma Gandhi ?

(A) Shimla Conference (A) TIme ares
(B) Cabinet Mission (B) hfere firgm
(C) Round-Table Conference (C) TS g
(D) Cripps Mission (D) forem forgm
49. Bhabar region is 49. TSR e @
(A) Made from new alluvial (A) e STefte & s
(B) Made from old alluvial (B) gt SIeilg & &l
(C) Deposition of boulder and silt (C) Wil *hehg, T, STSKT T ST
(D) Made from fine particles of (D) STk ol aTed STeile § ST
alluvial

50. Lakshadweep is 50. WHEU R
(A) A part of Maldives Island (A) AT g o1 T
(B) Coral Island (B) oA £
(C) Volcano Island (C) SarcHEl g
(D) A part of minicoy Island (D) TorfteRra g =t fewam

TF whE o foTu T
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GENERAL KNOWLEDGE OF COMPUTER mem
51. Which one of the following is not a 51. fr=faRaad @ @ ®F-1 T F7-30%
non-impact printer ? i adig ?
(A) Daisy wheel (B) Inkjet (A) St (B) S
(C) Laser (D) Thermal (C) <R (D) uda
52. Inkjet printer can be classified as 52. oo TieT o1 ariientor s Hehd 8
(A) Character printers (A) HF feT d
(B) Ink printers (B) 3 fexd
(C) Line printers (C) e frex d
(D) None of the above (D) 3IWiad | A IS T
53. The best quality graphics can be 53. TEH IT=B! UETT aTel TMhad 1 ScATE
produced by foren St TeRaT ®
(A) Laser printer ( ) iR TSt g
(B) Dot matrix printer (B) =fe dfdsm fiet g
(C) Inkjet printer (C) Wﬁa‘m
(D) Plotter (D) wAreX
54. .PNG refers to 54. PNG %! Gid AT 2 |
(A) Image file (A IECERIES]
(B) Movie/animation file (B) Tt/ wIEA
(C) Audio file (C) it wrEa
(D) MS-Office document (D) TH TH-ATRY SoRIHS
55. A video consists of a sequence of 55. U dfen o HiFA=H T ST
BATR |
(A) Frames (B) Signals (A) B (B) femiem
(C) Packets (D) Slots (C) UheH (D) Tie|
TF o foTu T
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56. is used to compress video. 56. difea % & fag T ITANT
BATR |
(A) MPEG (A) b3S,
(B) JPEG (B) <.Ht.3.Sf.
(C) JPG (C) .4
(D) None of the above (D) 3T T F s T
57. Which shortcut key is used to move 57. oHET 1 IR I T Ul I I H o
the cursor to the beginning of a line of S & o sH-dt sféahe ﬁ‘} T 3T
atext? P smare ?
(A) Esc (B) Enter (A) Esc (B) Enter
(C) Home (D) Pageup (C) Home (D) Pageup
58. Ctrl+V is used to the contents 58.  Ctrl+V 31 3T R T fFATaiE it hemeq
of the clipboard at the cursor. i F o for fra ST @
(A) cut (B) copy (A) =+ (B) =hidl
(C) paste (D) undo (C) U= (D) 31
59. In which menu can you find features 59. forg T # o1 woTse T, wmse
like slide design, slide layout, etc. ? T3, AT St Giemd o7 dehd € 7
(A) Insert menu (A) T
(B) Format menu (B) it H=]
(C) Tools menu (C) a3
(D) Slide show menu (D) TATEE I AL
60. Which one of the following is not an 60. fr=faifad # @ SH-T1 T M3eYe
output device ? fearga agig ?
(A) Printer (B) Scanner (A) Tz (B) W
(C) Monitor (D) Projector (C) #ifiex (D) WiSieeT
TF whE o foTu T
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61. CPU stands for 61. @i.di.g wFIiET?
(A) Central Processing Unit (A) Hed TR gie
(B) Control Processing Unit (B) cheld ST Ffe
(C) Central Programming Unit (C) wgw ymmfEm e
(D) Control Programming Unit (D) R T e
62. The ALU unit of a computer 62. I H U.UA.Y, e
(A) Can perform addition and (A) TS R =T T Thdl &
subtraction
(B) Can perform all types of arithmetic (B) @l YR o IO IATRIE T
operations gohdl ©
(C) Can perform logical operations (C) dfeheh TR T Tehal &
(D) All of the above (D) 3Iured |t
63. Viruses which executes when computer 63. HF IE Hd T BRI
starts is AR TR |
(A) Macro (B) File infector (A) Tl (B) WIS 3hact
(C) Boot sector (D) Salami saving (C) g@w (D) T gfam
64. In computer, LCD monitor screen 64. Wﬁqﬁ‘gﬁ'g‘}‘ AT T ATHFR
shape is )
(A) Flat (B) Oval (A) e (B) =
(C) Cylinder (D) Cone () fuferer (D) ®H
65. infects the executables as 65. m ﬁ?%@ﬁ?ﬁﬂ?ﬁ
well as the boot sectors.
_ _ I qHTfId HLaT R |
(A) Non-resident .VII’US (A) TH-XRR= A
(B) Boot-secto.r VII’.US (B) @—@&’Z{W
(©C) Polylmor;.)hlc .VII’US () i e
(D) Multipartite virus (D) wfezaw
% & & foTu T
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66. Which of the following optical media 66. = Wqﬁ%mgqﬁﬁ%gsﬁﬁqﬁﬁ
group have the largest memory storing ToaT R T B R 7
capacity ? '
(A) DVD-RW (A) <1.41.2l.-3T. g5,
(B) DVD-ROM (B) €.l Er.- .3
(C) Blu-Ray (C) ==X
(D) DVD-RAM (D) .31 .d.-sm.umm
67. All of the following are included in 67. Ff=da *I Brg, Ak Tt
removable media except fogaeret Hifgan 4 o1md & |
(A) CD-ROM (A) € .-
(B) Diskette (B) fewane
(C) bvD (C) &t
(D) Hard disk drive (D) we fewh gred
68. What type of devices are CDs and 68. CDs 3K DVDs fFa g a2 ?
DVDs ?
(A) Input (B) Output (A) 3192 (B) =m3cye
(C) Storage (D) Software (C) =i (D) HTHR
69. To transfer electronic mail from one 69. TR U H H Ao Hel ZI-EHL il
machine to another, the following TCP/IP & fore, e o @ w-an A.H LA /e
protocol is used JIZTehRIct o1 ITANT BT 2 7
(A) RPC (B) FTP (A) A4l (B) U2l
(C) SNMP (D) SMTP (C) wawq.wa . (D) wH.TH.3..
70. Which of the following Topology has 70. T4 9 form SraTeAiSt ot Serd SATeT ST
highest reliability ? qare ?
(A) Ring (B) Mesh (A) T (B) ®w
(C) Bus (D) Star (C) == (D) &R
TF whE o foTu T
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71. Every computer connected to the 71. gﬁgﬁﬂgawaﬁqﬁﬁaﬁ
internet is identified by a unique four- %mmﬁ?ﬁﬁmqﬁ(_qﬁ@aﬁ
part string, known as FEIAI 2 |
(A) IP address (A) 8.1, ue™
(B) Host name (B) B W
(C) Domain name (C) sm= ™
(D) None of the above (D) U | ¥ IS A

72. Web search engines stores information 72. 99§ 35H o SR 9Igd § o U
about many web pages by a T AT TR L § |
(A) Web organizer (A) IS ATTTZSH
(B) Web crawler (B) o HIIH
(C) Web router (C) a1 &R
(D) Web indexer (D) o9 SSFR

73. Yahoo, infoseek and Lycos are 73. ATE, TR SR AR g |
(A) Search engines (B) Browsers (A) T 3= (B) ST
(C) News group (D) Front page (C) == (D) e Us

74. What is the name of non-volatile chip 74. <2, 21eH AR fEen HAGTIEE ©R S
that stores the date, time and system T AA-TARCEA fea R R A g ?
configuration ?

(A) RAM (B) CMOS (A) muwg,  (B) H.um.sn.ud.
(C) JEET (D) FET (C) 334 (D) TH3.A.

75. DOS stands for 75. .39 H1 Q0 &9 2
(A) Disk Operating Software (A) fe&ep satmfan afeearr
(B) Digital Operating Software (B) fefSrea stafanm afreaax
(C) Digital Operating System (C) fefreat arrmifen foreen
(D) Disk Operating System (D) fe&p sAtofen fomen

TF o foTu T

Space for Rough Work

-21-

Set-A



32201/CAD — HBE/RCE - M

76. Which one of the following is not an 76. fr=fafaa 4 9 wa-o1 we sqfen faeen
operating system ? e
(A) MS Windows (A) T uE foae
(B) Chrome (B) ®H
(C) Windows NT (C) e wd
(D) Solaris (D) A
77. Linuxis a/an operating system. 77. fosa & AR foreem 2 |
(A) Open source (A) 3= arg
(B) Windows (B) ferers
(C) MAC (C) #=
(D) Microsoft (D) HTEHETR
78. Computer can be used in the field of 78. wcqg-{mgqﬁmﬁg AT TR TRd & 7
(A) Telecommunication (A) TEER
(B) Banking (B) s
(C) Medical (C) fufercan
(D) All of the above (D) IWiad |+t
79. Which one of the following is not a 79. Tfafed # @ S -1 T FR H IHE
major component of the computer ? g aE e v
(A) CPU (B) UPS (A) €idiy, (B) .di.ug.
(C) ALU (D) CU (C) Tua., (D) #i3,
80. Which one of the following is not a 80. ﬁ'l:r%ﬁgaﬁﬁaﬁq-aﬁ@waﬁg@
major function of computer ? R aeie ?
(A) Data gathering (A) =T TUET
(B) Data storage (B) <1 SR
(C) Data analyzing (C) =1 fagetyor
(D) Data processing (D) <1 e
TF whE o foTu T
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PART -3

GENERAL MENTAL APTITUDE AT W™ T
81. Find the next term. 81. 3T UE J1d L |

A C,G,M,? A C, G M,?

(A) S (A) S

(B) Y (B) Y

(C) U (C) u

(D) none of the above (D) 3IWied U T g el
82. Find the next term. 82. 3T IS JTd A |

AZ,DV, GR, ? AZ, DV, GR, ?

(A) JN (A) JN

(B) KN (B) KN

(C) JO (C) JO

(D) IN (D) IN
83. Find the missing letters. 83. T &R Jd A |

a_a_bb__abb_aaaa__bb a_a_bb__abb aaaa__bb

(A) baaabba (A) baaabba

(B) baabaab (B) baabaab

(C) abbaabb (C) abbaabb

(D) baaabbb (D) baaabbb

T wTd o forg Tam
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84. How many rectangles are there in the 84. Tz dfhaq amga s ?

85.

86.

following figure ?

(A) 9 (B) 10
(C) 8 (D) 11

Find the missing number.

18 | 21 | 24
12 [ 12| 9
3 3 3
721 2 [ 72
(A) 72 (B) 81
(C) 84 (D) 86

c | b | E
c |G| L
c | 2?2 | v

(A) J

(B) K

(C) |

(D) H

85. W W& J1d i |

18 | 21 | 24
12 [ 12| 9
3 3 3
721 2 | 72
(A) 72 (B) 81
(C) 84 (D) 86

86. T &R 1A A |

c | b | E
c | G| L
c | 2 | v

(A) J

(B) K

©) |

(D) H

TF whE o foTu T
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87. Which of the following Venn diagram 87. Tt @ sH-a1aq foa SHeR, Fan 3 arerq
represents the best relationship between . = a2 7
Animal, Dog and Pet ? q@%qaaﬁwaﬁ B
N ‘ N ‘

" @ " @

88. If A=26andHIS =91, then HER = ? 88. ufG A =263 HIS=91,d HER="?
(A) 5 (A) 58
(B) 9 (B) 9
(C) 118 (C) 118
(D) None of these (D) 3T © =g el

89. If “rain” is called “water”, “water” is 89. A “rain” =l “water”, “water” =l “tree”
called “tree”, “tree” is called “sky”, “sky” eI ST 2, “tree” I “sky” 3 “sky”
is called “wall” on which of the following s ! )
grows a fruit ? wall” gl ST 2, 1 et fohes ST ®
(A) water (B) tree (A) water (B) tree
(C) sky (D) wall (C) sky (D) wall

TF o foTu T
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90.

91.

Select a figure from Answer Figure
which would continue the series
indicated by the figures of problem
figures.

Problem figure

<< 7

Answer Figure :

w|(] e O
(©) (D) O

Choose the figure which is different
from rest.

(A)

(B)

(C)

D=l D=6

(D)

32201/CAD — HBE/RCE - M

90. 3T IThId H & 3 AR I AT, ST TH

reRfert | €Y 78 Soft ok e fE R |
e

<< ?
WW&T:

w|(] e O
(©) (D) O

91. fE s gFesNIma =g |

o[

(B) \%
(©) ’:H
T

(D)

TF whE o foTu T
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92. Choose the figure which is different 92. ma;@%aﬁgﬁqa}ﬁqﬁﬁq:[% |
from the rest.
(A) ®) (A) ®)
(C) (D) (©) (D)
93. Select the pairin which the number are 93. ﬁarﬁ@q%wﬁaﬁw
similarly related as in the given pair. aﬁgﬁq |
4:32 4:32
(A) 7:343 (A) 7:343
(B) 9:243 (B) 9:243
(C) 10:500 (C) 10:500
(D) 5:75 (D) 5:75
94. Find the odd one. 94. fomm & I |
(A) WHEAT (A) WHEAT
(B) TRAIN (B) TRAIN
(C) PROUD (C) PROUD
(D) DRIVE (D) DRIVE
95. Find the odd one. 95. forw =l I W |
(A) 13 (A) 13
(B) 17 (B) 17
(C) 23 (C) 23
(D) 37 (D) 37
% & & foTu T
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96. The different positions of a dice are 96. U T3E & faty= feufaat = fo 8 2 |
given below. Which letter is on the face F—-TT 3721 B ¥ Frafia wois § 2 7
opposite to B ?

(A) C (B) A
C€) F (D) E

97. The three different positions of a dice 97. U o158 o dH fafer el A= e i 2 |
are given below. Which number is on HI-91 37 1 F TI9dd SeTeh § 21T 7
the face opposite to 1 ?

(A) 2 (B) 6
(C) 5 (D) 4 (C) 5 (D)

98. All the faces of cube are painted with 98. o % Gt TeTeh bl Hicl TT T TN SIaT 8, 36
blue color, then the cubes is cut into o1E 5 T 125 99 B2 51 T el S R |
125 equal small cubes. How many - ! S
small cubes have two faces are BT P o 21 ek T e 7
coloured ?

(A) 8 (B) 36
(C) 24 (D) 48
99. Find the missing number. 99.
TF whE o foTu T
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100. Find the missing number. 100. @q@wmsﬁ |
7 4 6 11 18 7\(4 \(6 11\(18
196 324 ? 196 324 ?
(A) 1584 (A) 1584
(B) 2250 (B) 2250
(C) 8100 (C) 8100
(D) 9801 (D) 9801
101. If ‘+ stands for ‘x’, =’ stands for ‘+’, 101. %ﬁq;ﬁ(X%%%%%% ‘_cﬁ’%ﬁ
x’ stands for — and ‘+’ stands for ‘+, then
find the value of 26 + 80 — 4 x 8 + 2. 26 +80 — 4 x 8 + 2 %1 W 1 A |
(A) 90 (A) 90
(B) 514 (B) 514
(©) 516 (C) 516 . .
(D) None of the above (®) q I T
102. A,B,C, D, Eand F are sitting in a row, 102. A B, G D, E,aﬁT F o qﬁr\a i a%.% '
C is sitting between A and D, D is not AR D C 31 | D fcm s a7l
at the end, B is sitting immediate right %t’ B’. E = g arfer IR | F_‘ﬂé@(a?m
to E, F is not at the right end. So how A | 1 E % @ AT for = € 7
many persons are there to left of E ?
(A) 1 (A) 1
B) 3 B) 3
(C) 4 (C) 4
(D) None of above (D) 3 ﬁ'“ | H LR T
% & & foTu T
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103. P and Q are brothers, Rand S are 103. P3N QUEE, RIXSTEAE | PHTIA
sisters, P’s son is S’s brother. How S FI m-g%, A Q, RIFTTafrg ?
Q isrelatedto R ?
(A) Father (A) foar
(B) Uncle (B) =m=n
(C) Brother (C) w8
(D) None of these (D) T 9 I3 =
104. Study the diagram below and identify | 104. = 3 fom o sregma i st s@ AT Al
the region representing Indian who are Tea S Frfara SR ad sl vefdta
educated unemployed. FATD |
Employed ’a‘ Educated ﬁw ﬂ_el'ﬁ —>ﬁ1’f\85?l
4% YR
v Indian v Ty
(A) E (B) D (A) E (B) D
C) F (D) G (C) F (D) G
105. Find the missing number in a given 105. fe3 T sriferes 2oft # e o7 J1d L |
series.
5, , 213,509, 997 5, _,213, 509, 997
(A) 63 (B) 46 (A) 63 (B) 46
(C) 61 (D) None of above (C) 61 (D) 39 | | IS e
106. Find the next term. 106. 37T IS T 3 |
1,3,5,9,17,31, 1,3,5,9,17,31,
(A) 53 (B) 57 (A) 53 (B) 57
(C) 65 (D) 68 (C) 65 (D) 68
TF whE o foTu T

Space for Rough Work

Set-A



i

107.

108.

109.

110.

In a given number series, find next
number.

3,3, 6,14, 29, ?
(A) 52 (B) 53
(C) 59 (D) 60

In a certain code language 371 means
“sky is blue”, 235 means “sea is deep”
and 597 means “sea looks blue”, then
which number is the code for “deep” ?

(A) 2 (B) 3
(C) 5 (D) 7

How many squares are there in the
following figure ?

How many triangles are there in the
following figure ?

32201/CAD - HBE/RCE

107. To3 73 riferer Soft o SmTer wemn
0 |
3,3,6, 14, 29, ?
(A) 52
(C) 59

108.

-M

Ife foret HTehfaer 99T § 371 1 Aadd

“sky is blue”, 235 T Al “sea is deep”
37 597 =1 Hdoid “sea looks blue” 2, a1

“deep” 1 IS HIT-TT T 7
(A) 2 (B) 3
(C) 5 (D) 7

109. fA R dfraa e ?

(A) 17
(C) 20

110. feam foa & fora Prge 2 7

(A) 10 (B) 12 (A) 10 (B) 12
(C) 13 (D) 15 (C) 13 (D) 15
TF o foTu T
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111.

112.

113.

114.

PART - 4

GENERAL MATHEMATICS
J1.0816 =2

(A) 1.04 (B) 1.286
(C) 0.904 (D) 1.35

The value of \/248+ J52++144 is
(A) 14 (B) 12
(C) 16 (D) 13

The least common multiple of two
numbers is 168 and highest common
factor of them is 12. If the difference
between the numbers is 60, what is
the sum of the numbers ?

(A) 108 (B) 96
(C) 122 (D) 144

In the figure given below,
/B:/C=2:8.Find zB+ ZC.

111.

112.

113.

114.

32201/CAD — HBE/RCE - M

HTHT T
J1.0816 =72
(A) 1.04 (B) 1.286
(C) 0.904 (D) 1.35
248 +[52+ 144 F1 T 3
(A) 14 (B) 12
(C) 16 (D) 13

31 FEAIRA 1 AYTH THIE 168 7 IR
3R T FHIEA 12 ® | Afe 37 aeansti
1 I 60 B, T 37 TEATSTT ol T 1 8 7

(A) 108
(C) 122

(B) 96
(D) 144

fefeumutmd /B: 2C=2:31
/B+ /C F1d i |

D D
A 1300 A 1300
B C B C
(A) 120° (B) 78° (A) 120° (B) 78°
(C) 52° (D) 130° (C) 52° (D) 130°
TF whE o foTu T
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115.

116.

In the given figure, two straight lines
PQ and RS intersect each other at O.
If #SOT =75°, find the value of a, b
and c.

a=284°b=21°c=48°
a=48°b=20°c=50°
a=72°Db=24° c=54°
a=064° b=28° c=45°

The perimeters of two squares are

115.

116.

32201/CAD — HBE/RCE - M

e ™ o3 1 91 W W PQ 3RS
T g O W Wfd=ae it 8 | afe
/SOT =75°, a, b 3T ¢ 1 94 J1d

a=284°,b=21°c=48°
a=48°b=20°c=50°
a=72°b=24° c=54°
a=064° b=28° c=45°

21 9771 o 9TATT 40 cm 332 cm B | T

40 cm and 32 cm. Find the perimeter R =t o1 i T ShifSTe foreeht &ha
of a third square whose area is equal A ST I o STHAl oh 3T o S 2 |
to the difference of the areas of these
two squares.
(A) 24 cm (A) 24cm
(B) 40 cm (B) 40cm
(C) 36cm (C) 36cm
(D) 25¢cm (D) 25cm
TF o foTu T
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117.

118.

119.

A starts from a place at 7 a.m. with
a speed of 10 km per hour. B starts
from the same place at 9 a.m. with a
speed of 15 km per hour. When will
B meet A?

(A) 1p.m.
(C) 3p.m.

(B) 2p.m.
(D) 12 noon

If a sum of money at simple interest
doubles in 6 years, in how many
years it will become 4 times ?

(A) 12 years (B) 14 years
(C) 16 years (D) 18 years

If the annual rate of simple interest

increases from 10% to 12%% , a

man’s yearly income increases by

117.

118.

119.

32201/CAD — HBE/RCE - M

ATH TIF A 7 a.m. 51 10 km per hour

1 Tl U T IRE FdT 2 | B3EH T
9 a.m. < 15 km per hour i =Tt & et
TR AT 2 | B, A O Tore T Ty 7

(A) 1p.m. (B) 2p.m.

(C) 3p.m. (D) 12 noon

Ife ShTS € HTEITOT SATST WX 6 911 H QAT &1
ST 2, a7 fepe o & 4 71 21 S 7
(A) 127 (B) 14 o

(C) 16 (D) 18ad

e TTemoT sATST <ht ATk a8 10% 9 Sght
12%%@3@%,@&@%@3&%

I H T 1,250 F fg Bl B, ST

% 1,250, his principal is AU @
(A) T45,000 (B) 50,000 (A) ¥45,000 (B) 50,000
(C) T60,000 (D) % 65,000 (C) 260,000 (D) % 65,000
120. Which option contains the fractions 120. e fomrey © firet sgd w0 8 for@ U & 7
in ascending order ?
16 7 5 13 16 7 5 13
_’_’_’_ A _7_’_7_
(A)2912816 () 9 12 8 16
13 5 7 16 13 5 7 16
(B) 2~ A’ 2m A (B) _— =, —
16 8 12 29 16 8 12 29
7516 13 7 516 18
©) 128 29’16 ©) 12°8’29° 16
5 7 16 18 5 716 13
®) &'12'29' 16 ®) §1229"16
TF whE o foTu T
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1 1 1
121. If ——=0.2689, then 121. - = , A ——=
3.718 02089 e 3.718 0.2689, T 5 0003718
1 E—
0.0003718
(A) 2689 (B) 2.689 (A) 2689 (B) 2.689
(C) 0.0002689 (D) 268.9 (C) 0.0002689 (D) 268.9
122.  6.46 in simple fraction is 122.  6.46 o1 9 H1EROT fi=7 | 0
646 64640 646 64640
(A) — (B) (A) — (B)
99 1000 99 1000
640 640 640 640
Cc) — D) —— Cc) — D) ——
© = D) o9 © = D) o9
123. If selling price is doubled, the profit 123.  fe forsha Yo 1 A1 &I 8, Al &1 o 1
triples. Find the profit percent. B ST 2 | wfreTd o i iR |
2 1 2 1
A) 66— B) 105— A = B) 105—
(A) 3 (B) 3 (A) 663 (B) 3
(C) 100 (D) 120 (C) 100 (D) 120
124. Asells abicycle to B ata profitof 20%. | 124. A T ikt bl 20% 19 W B &l sI=ral
B sells it to C at a profit of 25%. If C 2 1B, 38 25% 9 W C FH A=d1 2 | IR
pgys % 225 fgr it, the cost price of the C 3% B 7 225 3@ 3 A ¥R
bicycle for A is
TTEfheT 1 3 T ©
(A) %110 (A) %110
(B) 3120 (B) 120
(C) 125 (C) ¥ 125
(D) ¥ 150 (D) ¥ 150
TF o foTu T
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125. If the sum of two whole numbers is 72, 125. qﬁzﬁ@mgﬁsmqﬁq 72, 3AH LRI
their ratio can not be & B gear
(A) 5:7 (B) 3:5 (A) 5:7 (B) 3:5
(C) 3:4 (D) 4:5 (C) 3:4 (D) 4:5

126. If the height of a triangle is decreased | 126. afs wa fruet it S=mg ¥ 20% i T 3R
20% and its base is increase by 20%. 3G IR H 20% 1 Jhg Bt & | 3Tk
What will be the effect on its area ? A6 U T 99 BT 7
(A) 0% (A) 0%

(B) 4% decrease (B) 4% Hl
(C) 8% increase (C) 8% dfg
(D) 4% increase (D) 4% dfg

127. The total surface area of a cube 127. 3894 o HYUI Y53 T &1l 1 BT Toredeht
whose one edge is 8 cm is TF S 8 cm ©
(A) 512 cm? (B) 324 cm? (A) 512 cm? (B) 324 cm?

(C) 256 cm? (D) 384 cm? (C) 256 cm? (D) 384 cm?

128. What will be total surface area of a 128. T& 7 cm @4, 6.5 cm =S qAT 4 cm S
cuboid of length 7 cm, breadth 6.5 cm wqmg@qgm ATH FGT B ¢
and height 4 cm ?

(A) 200 cm? (B) 199 cm? (A) 200 cm? (B) 199 cm?
(C) 182 cm? (D) 199.5cm? (C) 182cm? (D) 199.5cm?
TF whE o foTu T
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129. What is 25% of 25% equal to ? 129. 25% h 25% o ST FI1 & 7
(A) 0.00625  (B) 0.0625 (A) 0.00625  (B) 0.0625
(C) 0.625 (D) 6.25 (C) 0.625 (D) 6.25
130. A’s salary is 50% more than B's. How | 130. A &1 ddd B & 50% 31feh & | B 1 o
much percent is B’s salary less than AT fraafqea g2 ?
A's?
(A) 33% (B) 33%% (A) 33% (B) 33%%
©) 33l% (D) 33 % ©) 331% (D) 331%
3 2 3 2
131. Surendra covers a distance by 131. g TF 30 *I A13fha 511 18 km/hr
cycle at 18 km/hr. He returns to the I Y T HAT & | I8 TRk ol W ueh 519
starting point in a bus at a speed of ST 45 km/hr 31 916 & 9198 SiedT & | ot
45 km/hr. Find the average speed for 3 oy o AR |
the entire journey. AT o 1o I =TT 31
(A) 27.39 km/hr (B) 25.71 km/hr (A) 27.39 km/hr (B) 25.71 km/hr
(C) 27 km/hr (D) 31.5 km/hr (C) 27 km/hr (D) 31.5 km/hr
132. A car covers a distance of 22.8 kmin | 132. TH %N 2.4 WX Ugra § 22.8 km i gl
2.4 litres of petrol. How much distance TIFA R | 2 e v § 92 foraf e a
will it cover in 2 litre of petrol ? S ? ) B
(A) 18 km (B) 20 km (A) 18 km (B) 20 km
(C) 19km (D) 21 km (C) 19km (D) 21 km
133. Pipe A can fill a tank in 5 hours, Pipe B | 133. THIH HI AT A5HH, 959 B 10 6 H
in 10 hours and Pipe C in 30 hours. If S 139 C 30 & | wiar ® | Afe i+ argg
all the pipes are open, in how many el ST, 1 3t o et i s SRt ?
hours will the tank be filled ?
(A) 2 (B) 2.5 (A) 2 (B) 2.5
(C) 3 (D) 3.5 (C) 3 (D) 3.5
% & & foTu T
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134. When a number is divided by 296, 134. ot =11 ah 296 T 9T o4 91 75 S S=rd]
the remainder is 75. What will be 2 | 39 91 Rl 37 ¥ 91 3 T AYHT 7
the remainder if the same number is 2 ?
divided by 37 ?

(A) 2 (A) 2
(B) 1 (B) 1
(C) 11 (C) 11
(D) 8 (D) 8

135. The ages of A and B are in the ratio 135. AIRBH AFGH3: 1% IS |
3 : 1. Fifteen years hence, the ratio 15 ST ¥ 31914 2 : 1 & ST |
will be 2 : 1. Their present ages are 37T g3 R 2
(A) 30 years, 10 years (A) 30ad, 10 o
(B) 45 years, 15 years (B) 45ad, 1598
(C) 21 years, 7 years (C) 214, 7y
(D) 60 years, 20 years (D) 604, 20 a¥

136. The population of a city is 200,000. If | 136. sk &L sh! SHEEAT 200,000 2 | I anfien
the annual birth rate and the annual TR G 3T AT g T HA: 6% 3R 3%
death rate are 6% and 3% respectively, ], A1 31 N1 YT 18X 3hl STHEEAT hl TUMET
then calculate the population of the city I, |
after 2 years
(A) 212,090 (A) 212,090
(B) 206,090 (B) 206,090
(C) 212,000 (C) 212,000
(D) 212,180 (D) 212,180

TF whE o foTu T
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137. The population of a city increases at 137. Tordlt et st e 5% dTfYeh < 8 &g
the rate of 5% annually. Its present @ 2 | If T9h ad9H SHEE 1,85,220
population is 1,85,220. Its population 2, 1 i T Yot e Rt off 7
3 years ago was
(A) 1,81,500 (A) 1,81,500
(B) 1,83,433 (B) 1,83,433
(C) 1,60,000 (C) 1,60,000
(D) 1,27,783 (D) 1,27,783

138. L.C.M. of two prime numbers x and y 138. QI AT AT X 3Ry (X > y) T TLTH
(x >y) is 161. The value of (3y — x) is THTE 1612 | (By —X) H A R
(A) -2 (B) -1 (A) -2 (B) -1
€)1 (D) 2 €)1 (D) 2

139. The average of six number is 70. If 139. ®: el %1 H|d 70 ® | Ffe qom
average of first three is 35 and last four GEAT3T o1 37 35 3R AT =’ et
is 45. Then third number is o1 3T 45 B, A1 A0 T e 7
(A) 35 (B) 40 (A) 35 (B) 40
(C) 45 (D) 50 (C) 45 (D) 50

140. Theaverage of 50 numbersis 38.ltwas | 140. 50 TEAT3TI I 3f1Ed 38 7 | I AT 7T I
found that one number is misread as 89 T G I A § 39 hI ST 89 eI T
instead of 39. The correct mean is o | Fet 3Ed &

(A) 37 (A) 37

(B) 36 (B) 36

(C) 37.2 (C) 37.2

(D) 36.6 (D) 36.6
% & & foTu T
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141.

142. °

143.

PART -5
GENERAL HINDI/ 9T HTH T&-

fedt o g frifeRa wTeq Hera: foreht o=
ST § ST S | 3 Y81 ol 394 Haferd AT

o |1 GHTTT I :
a. ey i. "3t
b. A ii. ST
C. g jii. ST -hrE]
d. fram iv. OISt
v. Wfa

ETE

a b c d
(A) iii i [ %
(B) ii iii [ iv
(C) iv il i %
(D) i i i iv
St YTeq 1 7 T B
(A) = (B) wehfd
(C) A (D) emd
freiferd @ s -4 3168 <’ I16] T TH

FF g ?

(A) IH

(B) TEt i =ty wEAT
(C) dua
(D) ST =T I1 &4 o1 {8

144.

145.

146.

147.

148.

32201/CAD — HBE/RCE - M

faeifora & “fear wreq vt foreiia vree 2
(A) TH

(B) Bmn

(C) faehrot

(D) o

Tage =1 wgl wf=y fa=oe ¢

(A) T+ (B) fayg+3e=
(C) Rg+3ea (D) e+
‘ITST=’ o1 TE af faeae ©

(A) 39 + 3 (B) [+ 314
(C) s+ (D) I+ 3«
‘AN o1 o i faeae ®

(A) 3sft + T
(C) =ty + T

(B) 3fy + Ik
(D) =1eft + 3k

T S -E e af i 7 2 7

(A) T frds ster @ anefe s
T 2 |

(B) @fer © WTT: 15¢ o1 &Y BT &
STt e |

(C) s fa=degrar e |

(D) T TS UG HIAMBATR |

TF whE o foTu T
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149. freifera qeTer/Arenifaaal ot 396 d & | 151, FrfaRad ame o fed T & gfd o g
|1y Gaferd i ; 3ferd wa Téte qerea A -a1 g 7
a. oA |, feefer 1 T aﬁﬁw@maﬁmw
b. S-St |1 5601 T oM | O

), < —cai I dsil ¥ SgaT & (A) T
- | (B) % st R
C. TR H T&H1 |1 3T8¥a S ohi .
Gad oM I (C) e atem
I (D) 9w
d. S T3S, |V. T Hfad o TIH
T 9U e T I I 152.  TeAfcTRad qereri | fo 21 qerai o1 379
Frferepm e T EAA R 7
2 : i. U S T e
a b c d R EERE
A IV i 92 H e
B) IV 1l | iv. U2 T q=ET
C) v I (A) i, ii (B) i, iii
Oy v (C) i, iv (D) i, iv

150. RG] o Haw H -1 ot W1 € 7 153, Pt v Biefeifas § & fea ot §
(A) TETERT STeRITST BT 2 ST 7
(B) HeETeR 1 TGH JANT fohT ST R | A) T
(C) foreht wRTg®y, hfa, Taeh =1 EATfyTed

S 1 ST 1 S e ¥ w0 i (B) WHgaT=®

Fare | (C) =AfFFaTa®

(D) A af w8 (D) =T
% & & foTu T
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154, frefafea & @ fra sss s yAm ar aAm | 158,  feafafed # -1 w16 aa-t 61 3fee @
HEm@ie ? 687
(A) @ (B) & (A) = (B) s
(©) % (D) @0 ©) =2 (D) e
P i SN N ——— |21 ﬁﬁquwi%aﬂu dﬂ*ﬁ—ﬁaﬁ
e IR s agE@h A H Y TH
SRR 1 w12 ) a8eh 1 e T 2 | 3 P o
(A) 3Th! 2l el B | = AR |
(B) et Tt o 371 | (A) eFEv—want, A
(C) o=l FehieTm Uecer It o | (B) WU~ e H1 U, TRV LA h fohan
(D) @fm = dreeh € ¥ | (C) fmr - weardt, =t
(D) Frae - wmae | Ffvtd Ush TR i T,
156. ‘gFe I8 W AT AT | I8 AT T T STehTL AT SRR
foran o 3Taria fore foparm =1 SeRTOT © 7
(A) ST e 160. ﬂ%%qwaﬁﬁﬁma?wwaﬁﬁm
(A) T ITRIE FTH ST B ST |
(B) SR e (B) & =S a1 & o |
(€) ST e (C) e v & A o |
(D) Freran e (D) ¥ @ =it & 31§ o w7
157. f=ifhd & H-T1 TeE G ® 7 161, T ee 1 fom 2
(A) Irgsi (A) Tfeem
(B) sl (B) 3wafem
(C) wem-wren (C) wfifem
(D) stz (D) ST H & s e
TF whE o foTu T
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162. ffaRad ¥ sgaem wee & 166. ‘I8t St foees arer st of &7 - S
(A) a-ﬁ—r[’ TeTd %WWWW%?
(B) Wi, EUH (A) et
(C) 3Wehrd, qari@ ®) ,
() ST (©) =
(D) ==
7
163.  SHTRIA o fohe 9E & | 167, e e o 2
(A) =t (A) TR
(B) (B) e
(C) = (C) =
(D) r= (D) e
164. T (SO ST 8 TR @Ik R R ThIeT | 168, ‘BT <fehl Heoht HeTRd od & — 3ae a7ef
H 21 werdt oft, foreg foreft FroT i 59 - 3@ w77
fra Fa i e wed 8 7 (A) =< 33T forT Teeat Tt fireta |
(A) 3G od (B) forvam@ @ &€ vt firan ® |
(B) BdeqHad (C) fereft o forw stcarfiren shwe e <t e
(©) st e
(D) gﬁqg% D) Sqﬁ@aﬁ'é:rgﬁ
B N S ST 169. gggﬁge;?gﬁﬂ e oL fa@T I
(A) 3 (A) e
(C) waq (C) s
(D) aferat (D) 3w | IS AL
% & & foTu T
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170. ‘wiNIE’ voe forer THTE 1 3SR R 7 175. = feu 7Tu sreei | <9 wree @
(A) qTEY (B) wema (A) SfH (B) T
©) B (D) srefisr (C) et (D) <&
171, form ool w  wed v A R | 176, TR R 9 eR § e fe
o1 i 7 e, 58 e B (STFTE) e H13-71 3 7
(A — (A) = (B) =T
T (C) ==X (D) g
(B) 3UdE THTE
(C) ol Tegen T 177, waTCH e T i R H o e 3, ot
(D) e TwE T oft TR AR R 7
(A) =4 st 9T
172, ‘T ford THE 1 3R B 7 (B) 3Tshisht <t ST
(A) FFfiva (B) dcqe (C) T hl |
©) 7= (D) fa (D) el 1 st
173, fidt wom view #1 R ‘A Frife i | 178 TSR FIGEIAME
o &2 3 st w2 7 A) 5= B) ot =i
(A) T 9 (C) wiRa=s (D) <ifYa
(B) dea s 179. < fFA SRR FT TS B 7
(€) 3‘@' EH o3 (A) gt (B) e
(D) @t (C) wgst (D) 3feara
174. iR o dqua wiee T R 180. fr=feifaa o w=t =t aret wee &
(A) (B) ®er (A) =Hichy (B) HEcaTHIET
(C) =m (D) TR (C) 7y (D) =EE
TF whE o foTu T
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PART -6 )
GENERAL ENGLISH/ 99T 31Ut

181. | cannot open the box you 187. Which of the following has correct
give me the key. spelling ?

(A) unless (B) if (A) Enterpreneur (B) Enterprenar
(C) and (D) because (C) Entrepreneur (D) Entreprenar

182. Heiswise ________ his brotheris 188. Ancient Romans designed shears
foolish. which we recognize today as
(A) so (B) therefore Fill in the blank with one of the
(C) but (D) because following words.

183. Your parents are greatly concerned (A) Sc!ssor (B) Sc!ssors
about your health. (C) Scissers (D) Scisser
Which of the following words can be ‘ ,
used in place of the underlined word ? 189. ‘Do not go near the lake’, the Guard
(A) worried (B) relieved warned the children. o
(C) happy (D) pleased Which of the following options is

correct ?

184. In summer season, the vegetables (A) The Guard warned the children
are fresh for two or three days but that do not go near the lake.
they get after that. (B) The Guard warned the children do
(A) steal (B) steel not go near the lake.

(C) stale (D) stole (C) The Guard warned the children,
_ . don’t go near the lake.

185. She___ inthe hospital. (D) The Guard warned the children
(A) treat not to go near the lake.

(B) have treated 190. There is an abundance of resources

(C) have been treated in the world.

(D) is being treated The opposite of the underlined word is
(A) excess

186. People in the area that (B) dearth
they should stay indoors. (C) plenty
(A) tells (D) more than enough
(B) has told 191. He'is kind us.

(C) have been told (A) at (B) to
(D) is telling (C) by (D) on
TF o foTu T
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192. This is the book | was searching ___. 197. Meera wrote this novel.
(A) for (B) with Select the correct option from the
- following sentences which can be
(C) in (D) to written in place of this sentence.
193.  Which of the following is correct ? (A) This novel is written by Meera.
(A) There is no difference between (B) Th'_s novel was written by .Meera.
you and she. (C) ;\Fﬂrgzrgovel had been written by
(B) There is no difference between (D) This novel was being written by
you and her. Meera.
(C) There is no difference between
she and you. 198. He said to her, “Has your brother
invited you ?”
(B) None of the above This sentence can also be written as
194.  Which of the following word is not follows : _
plural ? (A) He asked her if her brother had
' o invited her.
(A) Deer (B) Criteria (B) He asked her if her brother has
(C) Oxen (D) None of the above invited her.
, (C) He asked her if his brother had
195. Someone who is wrongly blamed for invited her.
things that others have done (D) He asked her if his brother has
(A) Blasphemy invited her.
(B) Excommunicating 199. Nitrogen and oxygen are the gases
(C) Scapegoat which are abundant the earth.
(D) Renegade Fill up the blank with one of the
following words.
196. A person who loves himself the most. (A) in (B) on
Which of the following is one word (C) over (D) above
for above ?
(A) Selfish 200. \lz(%u sptc;akbI . thtruth alwqyf.
. ill up the blank wi e appropriate
(B) Egotist articlz. PRIeP
(C) Narcissist (A) the (B) a
(D) None of the above (C) no article (D) none of the above
TF whE o foTu T
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SeET- A

I aifeRd & 1AW 3w AfereRan 3ieh : 200
Time for marking answers : 3 Hours Maximum Marks : 200
qe:
1. 38 Y et 8 fe 9o =i -

qa— (1) (1) 9H= 3TEH - 1-50

(2) TSI 1 A TH

I —  (2) HFYE I GH STHER] - 51-80

I —  (3) M AFHE T - 81-110

aT—  (4) 9EE I - 111-140

am—  (5) M et - 141-180

I —  (6) MR SH - 181-200

T T 1 37 1§ | Fcl 200 T FH AT ¢ |

2. Tl % 3, & T OMR 3T 3 (TErgiie) W 3iferd FHifse |
3. TTeld 3T Afehd i W Va 3T HIE TR |
4, T oft T % heTghoied A1 AT oA T4 HIETEd HiH o1 M afvid @ |
5. OMR 3IT-3f1e (ATERE{T) T YFITT Hd G0 UHT s STEELHT 7 o6l /shd 68 I8 he S =1
3q1 Are 1 fierae 3nf ug SR S worea®y 98 Te 8 9 |
Note :
1. This question Booklet contains Parts —
Part— (1) (1) General Studies - 1-50
(2) General Knowledge of State
Part—(2) General Knowledge of Computer - 51-80
Part—(8) General Mental Aptitude - 81-110
Part—(4) General Mathematics - 111-140
Part—(5) General Hindi - 141-180
Part—(6) General English - 181 -200
Each question carries 1 mark. All 200 questions are compulsory.
2. Indicate your answers on the OMR Answer-Sheet provided.
3. ¥a mark will be deducted for each wrong answer.
4. Use of any type of calculator or log table and mobile phone is prohibited.
5. While using Answer-Sheet care should be taken so that the Answer-Sheet does not get

torn or spoiled due to folds and wrinkles.
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